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1. You may use the multiplication table to help you answer this question.

x|2[3]4[5]6[7[8]9]10[11[12| (i) complete all the factor pairs of 15
214|168 |10[12|14]16|18|20(22|24
31619 1218 21124127130 (33 |36 Lo =15
418 12(16(20(24[28|32(3640 44|48 e X o =15
) 1020 25130(35(40{45 (50|55 |60
6
7
8
9

(i) complete the factor bug of 15
1211824 |30|36 |42 (48|54 |60 |66 |72

14|21128|35(42|49|56 63|70 |77 |84
16241324048 56|64 |72|80 88|96
18127 13645|54(63|72|81(9099|108
10120 (3040|50|60 |70 |80 |90 100[110{120
11122 (3344|5566 |77 |88]99 (110[121|132
1212413648 |60 | 72|84 |96 108/120|132|144

2. You may use the multiplication table to help you answer this question.

2
46 8]10/12]14]16[18)20]22] 24
6 | 9 [12]15[18)21]24]27]30(33]36
8 [12]16]20]24]28]32(36 |40 44] 48 X =18
201253035 4045] 505560
12[18) 2430 | 36| 42 48] 54 60 | 66 | 72
14]21(28|35(42|49|56 |63 |70|77|84| (ii) complete the factor bug of 18
162432404856 | 64| 72|80 88| 96
3645 54|63 72819099 [108
2030 |40(50( 6070|8090 [100[110[120
11]22(33 44 [55] 6677|8899 [110[121]132
12]24 36|48 60| 72| 84| 96 [108/120[132]144

3145678 W 10(11|12] (i) complete all the factor pairs of 18
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Answers for page 2 Turn over for more questions and answers
3(i)2x4 4(1)2x12,3x8,4x6
(ii) (ii)
1 24
1 8
2 12
3 8
2 4 4 §
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3. You may use the multiplication table to help you answer this question.
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(i) complete all the factor pairs of 8
Ix8=38
WX =28

(ii) complete the factor bug of 8

4. You may use the multiplication table to help you answer this question.
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Answers for page 1 (1) (i) 3 x5

(i)

(2) (1) 2% 9, 3 x 6

(i)

(i) complete all the factor pairs of 24

1x24=24
WX =24
WX =24
WX =24

(ii) complete the factor bug of 24

Turn over for more answers

1 15 1 18
2 9
3 5 3 6
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